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il s BRG ed Sl A S R (9] : A9
2 o )=
Bopnn f};‘" ?};3 ﬂg PRSI R AR 20199 (A) | 20189(@B) | ZZ(A-B)
37 17,802,303 14,614,904 3,187,399
s 17,802,303 14,614,904 3,187,399
Fold2xF5aH 15,414,983 13,134,586 2,280,397
AAA}LLL 924,603 911,678 12,925
B DA% 1,244 1,244 0
ARAFA Y 1,244 1,244 0
1. Agae4 1,244 1,244 0
7}, E%E%}T@r‘%‘ﬂ 1,244
1) ZAre (4Rh 190
7hH 7]& 210-06 [70,0009 x19 x13]= 70
W) z3} 21006 |40,00091 x 17 X 34| 7= 120
2) Y= 210—01 [14,0009) x 30} x 2A] 7k = 84
3) AH] 210-04 |8,0009 X407 x 13]= 320
4) ¥l Ate 210-07 |550,00091 % 1t x 13]= 550
5) AFRE 210-01 |50,0009] X 2% x 13| = 100
54 Fist 15,100 17,060 A1,960
AGFFedFA 4 15,100 17,060 21,960
1. AR FF Iy sEd 14,100 16,060 21,960
7h A A A 11,100
1) A= 210-01 |10,000¢1 X 30% x 33 = 900
2) Z3ArE (4R 600
7hH 7] 210-06 |100,0009 X 11 x 33] = 300
W) =7} 210-06 |50,000€1 X 11 X 64| 7k= 300
3) 2}l A}m 210-07 |1,000,0009 x 1t x 33] = 3,000
4) #F D= 210-01 |50,000¢1 X307 x 33| = 4,500
5) AHE8= 210-01 |50,0009 X 4% x 33]= 600
6) WALLE 210-01 |50,000¢] X 10% x 33 = 1,500
L T R e BT S 3,000
1) w7 210-01 |500,000¢ x 6™ x 13 = 3,000
2. AT F- AP R AS 1,000 1,000 0
7F A 3 H- A w S 1,000
1) w57 210-01 |1,000,00091 % 1% x 13 = 1,000
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el R IR o e et A B (cH9] - ")
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20199 (A) | 20189(B) | Z%(A-B)

T A A 3,885 4,075 A190
LIRS 685 725 240
1. ZAZEA 685 725 A40

7h WS EA 685

D AT 360

7hH 718 210-06 40,0009 X 63 x 13]= 240

W} =3 210—-06 |20,0009 X 67 X 14| 7k= 120

2) A9 EF 210-01 |50,0009 x 2% x 13]= 100

3) 93 230-02 15,0009 x 157 x 13]= 225
ALAAA 7 3,200 3,350 A150
1. QAAFRHE) 2] 91 3] 1,460 1,480 220

7h WA RjIAL] A 3] 1,460

1) &A=tk 210-06 (80,0004 x 21 x 53] = 800

2) 8= 210-01 |50,0009 x 2% x 33]= 300

3) &9 3 230-02 15,0009 X 87 x 33]= 360
459 /NE3 7}t 990 1,260 A270

7h w7t 990

1) FAREP=So 210-06 80,0009 x4 x 23] = 640

ALE 210-01 50,0009 X 2% x 23] = 200

3) & ] 3] 230-02 |15,0009x10% x 13 = 150
3. ZYAINHFFL 750 610 140

VA= A N R 750

1) £98= 210-01 |50,0009 x 3% x 28] = 300

2) & 9|3 230-02 |15,0009 X107 x 38 = 450
AT FLAAL 430 430 0
A FdAA Y 430 430 0
1. AT ELAAAE A L 430 430 0

7h. QAAS] 2 3] 430

1) A5t 210—06 |80,000¢ x 1% x 23] = 160

2) ¥ 9|3 230-02 |15,0009 x 9% x 23] = 270
22 QAT 1,230 1,240 A10
‘%Ex}g_]_/\].sﬂ.a] 1,230 1,240 A10
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Bopnm = = o2 A 5 AFelu) e =S -1 Az ol 2 = _
- AR Aol AFel = oAl 5 U 019d(A) | 20189 (B) | SH(A-B)

1. Z&FFF A #F 470 480 A10

b LB FA LA A 470

1) &A=k 210-06 (80,0009 x 17 x 28] = 160

2) S99 210-01 |10,0009) X 5% x 23] = 100

3) 393 230-02 |15,0009 X7 x 23] = 210
2. ZEFRAAYRAS 760 760 0

7h AR el 760

1) A (dnh 110

7hH 78 210—06 70,0009 x 19 x13]= 70

W) %2 210-06 |40,000€ x 17 X 12| 3}= 40

2) A=) 210-01 |20,0004¢1 % 267 x 18] = 520

3) BAREF 210-01 |65,0009 X 2% x 13]= 130
TA Q) AL = = 902,714 887,629 15,085
THYER AL 902,714 887,629 15,085
1. AR =35 399 4,000 2,000 2,000

7} AR =S 3 S e 240-01 |1,000,0009 x4¥ = 4,000
2. WEATAI AN A Y 898,714 885,629 13,085

7h A FARI AN A Y 898,714

D 7125 110-04 |19,712,53091 %247 = 473,101

2) A7) LI A 110-04 397,500 x 247 x 129 = 114,480

3) 7METY 110-04 |1,291,7609x 179 = 21,960

4) AR F25 110-04 |296,415¢ % 3% X 45-7] = 3,557

5) WERZH| 110-04 60,0009 x 24 x 129 = 17,280

6) 214 110-04 130,0009 %24 x129= 37,440

7) Azxp5 110-04 |1,354,91091 x 247 = 32,518

8) WHEF-7Hu] 110—04 500,000 X247 x 23] = 24,000

9) A7)l 110-04 [300,000€ x 24 x 23] = 14,400

10) Z=E 2 )| 240—-02 |400,0009) % 247 = 9,600

11) Zwdd= 320-12 |110,93090 %24 x 129= 31,948

12) A7R3E 320-12 |79,62590x24 x129= 22,932

13) »=A&7) QokH 3 320-12 |5,8779 %247 x 129 = 1,693

14) 18413 320-12 [36,9789x 24 x 129 = 10,650
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s RERE %A% SENE 20199 (A) | 20189(B) | Z7H(A-B)

15) A 138 320-12 |25,88591x 24 x129= 7,455

16) H& = 320-12 |3,154,1609 x 247 = 75,700
£8=2x 4 943,885 509,632 434,253
5P NLLES 58,702 20,604 38,098
TR B O 13,070 8,774 4,296
L. TTAEHYLIAT 540 734 A194

7h AHIGBAY LD 540

1) AESS 210-06 40,0009 x 27 X 33]= 240

2) §2]3 230-02 |15,00091 X 107 x 23] = 300
2. IS HAAA3K L 12,530 8,040 4,490

7}, &y - . o A jpuk) 3,130

1) AEA = 210-01 |15,0009 X 200%-x 13]= 3,000

2) A8 210-01 |10,00091 x 13§ x 13]= 130

=T ul - A Ad e s 5,500

1) 28] 310-01 [8,000€l x 1507 x 18] = 1,200

2) 7k 310-01 |3,000€ x 1507 x 13] = 450

3) AFAA= 210-07 |400,000€ x 4t x 18] = 1,600

4) PAHEF 210-01 |15,0009 x10% x 158 = 2,250

== A ST A Y 3,900

1) Ql&wALAR 220-04 |1,500,00091 x 27 X 18] = 3,000

2) 923 230-02 |15,0009 X607 x 18] = 900
AAENEREF 6,564 8,790 22,226
1. A FA D g HA LR 6,564 8,790 72,226

7h AF3) A o B A R 6,564

1) AEA = 210-01 |20,0009) X 250%- % 18] = 5,000

2) HETS 1,200

7} 7|5 210-06 |40,0009 x4 x 58] = 800

) 237 210-06 |20,0009) X 47 X 54| 7k= 400

3) 2ly] 210-04 8,0004¢1 %47 x 25 = 64

4) AHFERE 210-01 |50,0009 X 63 x 18] = 300
ZJNY ALY 36,000 0 36,000
1. A&ea5A4 36,000 0 36,000
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At A e 20194(A) | 20184 (B) | SH(A-B)

b BA N AN E DR 36,000
1) aEH 16,500
7h BA A= 210-07 |50,000¢ X 8t x 408] = 16,000
) B AolxE 210-07 |500,0009 x 1t} x 13] = 500
2) WHE% 3,900
7h 7-AH)] 310-01 |3,0009 %30 X104 = 900
) el7| 4 An] 210-09 100,000 x10& x13]= 1,000
h S eE 210-15 |20,0009 X 10%x 108 = 2,000
3) e = 2,600
7} <uk) 310—01 40,000 x30% x1¥= 1,200
) A1) 310-01 |8,000¢ x 307 x53]= 1,200
th AL GFE 210-01 [10,0009) X 20% x 13]= 200
4) 3714F 8 7,000
7hH FRAEA A 210-01 |3,0009 X 500%- x 18] = 1,500
(BORIEE Br s 210-01 |40,000€ x52] x 13]= 200
) gt 210-01 |60,0009 x 22 X 103] = 1,200
7)) oJarEe] 210-01 |2,000,0009 x14] x13]= 2,000
up) oFx el wlE IhH) 210-01 |1,000,0009 x 12 x 13| = 1,000
up) 2] 310-01 |8,000€ X100 x 18] = 800
AP 7H2A1H) 310-01 |3,0009x100% x13]= 300
5) SAIEE 210-01 |50,0009 X 10% x123]= 6,000

R X 3,068 3,040 28

1. A 7LdA Y 3,068 3,040 28
7}, SR 2,050
1) 7241 310-01 |3,0009 %20 x83]= 480
2) A9 210-01 |10,0009 X157 % 28] = 300
3) AHLEFE 210-01 |20,0009 %115 x13]= 220
4) PALLE 210-01 |50,000€ x 23 X 63]= 600
5) 893 230-02 |15,0009 x 157 x 23] = 450
AR LRI DR 1018
D galstw st nel s 868
7h Ak (uh) °00
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e R I = A R B R GO
Z o )=
wopvy S0 | 2R | AT Aripel %A% SESE 20194 (A) | 20184 (B) | F7(A-B)
(1) 7] 210—06 | 160,0009 x 1% x 23] = 320
(2) =9 210—06 [90,0009 X 1% X 2A]7k= 180
W 9w 210-01 |14,000€) X 35 X 44| 7k= 168
th YALLE 210-01 |50,000¢ x 2% x 23] = 200
2) 3AAA=HY S 150
7H 9 8= 210-01 |50,0009 x 1% x33]= 150
st Al 2} 3,268 3,727 A459
ATIAAA A 3,268 3,727 A459
1. 34T Aax 4 3,268 3,727 A459
7h 2 AT 868
1) ZA e (dyh) 500
7hH 71 & 210-06 160,000 x 11 x 23] = 320
W} =3 210-06 90,0009 X 17 x 24| 7k= 180
2) Yi1xn 210—01 14,0009 X 31| x 4 A 7}= 168
3) S g=E 210-01 50,0009 X 2% x 23] = 200
U 2559 gAY 2,400
1) 2H] 210—04 8,000 X207 x 43] = 640
2) ZHAn] 210-04 |3,0009 %100 x 43| = 1,200
3) =AY 210-01 10,0009 x 289 x 23] = 560
FARNEFEF 10,885 8,145 2,740
HAZAASEEX A 10,885 8,145 2,740
1. A€ R+ 2,940 2,850 90
7h FA A n SR 0 A 700
1) AXE L) 210-06 |70,0009 %6 x 13]= 420
2) S99= 210—01 |50,000¢ x 2% x13]= 100
3) 93 230—02 15,0009 x 67 x 23] = 180
v 2S5y 0aY 740
1) AEFT 540
7hH 71 & 210-06 40,0009 x 39 x 33]= 360
W =3t 210—06 [20,0009 X 3% X 3A]7k= 180
9) Sl aE 210-01 |10,0009 x5% x 13]= 50
3) 393 230—02 15,0009 x5 x 23] = 150
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A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)
o x- T dolvAAd" 1,500
1) A 210-06 |30,0009 X294 x255]= 1,500
2. AL ATZ A3 7,945 5,295 2,650
7F A A zk3 570
1) 2l xte 210-07 |350,0009 x 1t} x 18] = 350
2) WALEE 210-01 [50,0009 X 2% x 13]= 100
3) ¥ 3] 230-02 15,0009 x 87 x 13]= 120
o (@) - w()AdAzs] 5,100
1) A8 210-07 |600,0009 x 43] x 13]= 2,400
2) A =N 210-01 |20,0009 x 257 x 23] = 1,000
3) YALEZ 210-01 |50,0009 X 2% x 23] = 200
4) ¥ 9] 3 230-02 |15,0009 X507 x 23] = 1,500
ot AN A F st AT 2,275
1) Ak aa 210-07 |600,0009¢ x 2t} x 13]= 1,200
2) AFd&Fn| 210-01 |10,0009 X 257 x 23] = 500
3) WAEE 210-01 |50,000¢ x 2% x 23] = 200
4) ¥ 2] 3 230-02 |15,0009 x 257 x 13]= 375
FATIXIE3s 6,000 4,000 2,000
AR FATIA Y 6,000 4,000 2,000
1. zgAT A7 AL 6,000 4,000 2,000
s R R T e B 240-01 |1,000,0009 x 68 = 6,000
6,659 6,100 559
folw&Xx¢ 6,659 6,100 559
L A48 d3edA9As Mt gdas 2,159 2,100 59
7h A S R 300
1) A= A2t 210-01 |10,0009 x 305 x 13]= 300
[ R RN el ) 1,155
1) ZA e (dyh) 680
7h 7)1 E 210-06 |160,0009 x 1% x 23| = 320
[BORES 210-06 |90,0009 x 17 x 44| 7F= 360
9) Sl aE 210-01 |50,0009 x 2% x 13]= 100
3) ¥9]3 230-02 |15,0009 x 257 x 13]= 375
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S EESEE (9] A9

o A=)
?};3 ﬂ% PRSIL == RENE 20194 (A) | 2018€(B) | Z7HA-B)

o}, 53 998l 704

1) A (dh 250

7 78 210—06 | 160,0009 x 1 x13]= 160

W) 23 210-06 90,0009 x 1% x 1 4] 7+ 90

2) ZFAFAI R A u] 210-06 |70,0009 x 17 x 18] = 70

3) 98 210-01 |14,0009) x 31 x 24| b= 84

4) 7FA1) 310-01 [3,0009 %1007 x 13]= 300
2. X g=A X 4,500 4,000 500

b A TaR AT =4 620-03 |4,500,0009 % 17} = 4,500
STFa53E 48,780 47,480 1,300
R Y o | 48,780 47,480 1,300
1. E5aSAgAE LY 48,780 47,480 1,300

7 A ST S A LA - 48,780

1D 2k . 3 7].x] 2] 3,420

71 AAA ] 210-01 |100,0009 x 12% x 18] = 1,200

) 2o 7ho) g n) 210-02 |100,000€ X 15% x 13]= 1,500

th 25 7k 9 5] #H A S 210-06 |80,0009 x 3 x 33| = 720

2) ST Ad =249 20,210

71 A EA 2 210-01 |10,0009 x 20% x 18] = 200

) #2=ut 210-01 |70,000€) x 12 x 33]= 210

th A (AR 210-06 |50,00091 % 67 x 203 = 6,000

zp) 2n) 310-01 |8,0009 X507 x 48] = 1,600

oh) 7hAlH] 310-01 |3,0009 x50 x 48] = 600

uh) xpekelxhw 210-07 |600,000¢ % 1t} x53] = 3,000

AP AFETO) 210-01 |30,0009 x 1% % 103 = 300

B EE 210-12 |25,0009 x50 x 43| = 5,000

2} A 5H] 210-11 |20,0009 x50% x 3% = 3,000

1) WAFREZ 210-01 |50,0009 X 2% x 33]= 300

3) SF AT GEA A 6.320

7)) &2=uk 210-01 |70,0009) x 12] x 28] = 140

) ZAr (AR 210-06 (50,0009 x5 x 43]= 1,000

) dis 210-01 |14,0009 X 31| x 54| 7h= 210
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Abedu e A5 AEY 20199 (A) | 20184 (B) #H(A-B)

2}) 21H] 210-04 |8,0009 15 X 63]= 720
uh) 7HAH] 210-04 13,0009 x 157 x103]= 450
vh) xFd g 210-07 600,000 x 2t x 13]= 1,200
AhH A& G5 210-01 |20,000€ x 207 x 23] = 800
op) A EH 210-12 |20,0009 X157 x 43]= 1,200
2} EAT9) 210-01 10,0009 x 159 x 23] = 300
1) BALEE 210-01 |50,0009 X 6% x13]= 300
4) JEAMH| =AY 3,470
7h AEADE R T 3,470
(1) A= (YR 210-06 |50,00091 X 10% x 23] = 1,000
(2) 2n] 310-01 |8,000¢ x 30 x 33]= 720
(3) 7H2Im) 310-01 |3,0009 x50 x 33]= 450
(4) A& 21012 10,0009 x50 x 23] = 1,000
(5) FWAFE-E 210-01 |50,0009 X 2% x 38| = 300
5 A7 A PH T FUEH 500
7 ERAE A= 210-01 |5,0009 X 100%-x 18] = 500
6) Ly-EGH| 8,260
7H =479 210-01 |10,0009x 203 x 13]= 200
W) ARELE 210-01 |50,0009 x10% x 13]= 500
th AFHAEE 210-01 |100,000€ x8F x 13]= 800
2} YA LE 210-01 |50,0009 X 6% x 13]= 300
u}) o AR T 210-02 |1,5009 x 20 x 103 = 300
vp) A 57) g 210-09 |30,0009 x12¢¥= 360
AD £33 210-13 |150,00098x12¥= 1,800
obh) 3DZHE &JH|FET 430-01 |1,000,000€ x 4= 4,000
7) Z3ApA 8] 7 n) 210-06 20,0009 x 57 x 203]= 2,000
8) 2] 210-04 |8,0009 x 159 x53]= 600
9) £=3|o3n) 220-01 |20,0009 %27 x1008] = 4,000

A w8843t 13,258 20,180 276,922

£ 13,258 20,180 26,922

CAATST)AA L 13,258 20,180 26,922
7t ARG 13,258

- IAREEAYS} - ALY
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(9] - )

A el sz g 20199 (A) | 20189 (B) | #(A-B)
1) A3+ 210-02 30,0009 x129= 360
2) FA Qe YE Al 210-02 |66,0009 x129= 792
3) A7NQ+F+ 210-02 |700,00094x12¥= 8,400
4) Fetrees 210-02 (50,0009 x12€= 600
5) A47] ¢ 210-09 60,0009 x1249= 720
6) F-217n) g 210-13 |115,500¥4x12¢¥= 1,386
7) APE-8E 210-01 |20,0009 x5 x 63]= 600
8) $99x% 210-01 |50,000€ x 8% x 13]= 400

SM S8} 6,455 2,602 3,853

A 7 g el 6,455 2,602 3,853

1. EA=275X4d 3,854 0 3,854
7b x-S EAREAY 2,202
1) AR (b 750
7p 7= 210-06 160,000 x 37 x 13]= 480
W) %3 210-06 |90,0009 x 38 x 1A]7}= 270
2) g 210-01 |14,0009 x 30l x 24| 7k x 3 = 252
3) =AY 210-01 |10,0009x120A x 18] = 1,200
L S s 1,652
1) A (R 680
7h 7= 210-06 160,000 %29 x13]= 320
) =7 210-06 90,0009 X 21 X 2] 7}= 360
2) A= 210—01 14,000 X 3u} x 3A|ZF X 27 = 252
3) 7+ 210-04 |3,0009 %407 x 23] = 240
4) TAF9) 210-01 |12,0009 X403 x13]= 480

2. B3 2,601 2,602 Al
7}, BRI RS} 2,601
D A (4R 250
7h 7] 210-06 160,000 x 17 x13]= 160
W) =3 210-06 90,0009 x 17 x 1A k= 90
2) Y8 210-01 |14,000¢ x 37 x 32| 7t= 126
3) 2] 310-01 |8,00091x45% x 23] = 720
4) 7+ 310-01 |3,0009 %457 x13]= 135
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(9] - )

At S =S ArEue 20199 (A) | 2018 (®B) | S#H(A-B)
5) xHekol a2 210-07 |800,0004¢ X 1t} x 18] = 800
6) TA 1A 210-01 |10,0009 <457 x 13]= 450
7) YAHEE 210-01 |20,0009 6% x 13]= 120

9,450 9,958 2508

R SRR 9,450 9,958 A508

CEE BE A X 4,180 5,008 ~828
7}, e o] M= 4,180
1) x4 210-06 |30,0009 x 3% x 22/ 3k= 1,980
2) 7-218] 310-01 3,000€x100% x13]= 300
3) A=) 210-01 10,000 x10F x13]= 100
4) A =1 210-01 |50,0009 x36% x 13]= 1,800

2. JoleYy|o}=$-9 5,270 4,950 320
7}, ol EA 5,270
1) 3<=ut 210-01 88,0009 x 22 x13]= 176
2) A 210-06 |30,0009 x 207 x 23] = 1,200
3) 2] 310-01 |8,0004¢ x 39 x 23] = 624
4) 7FHAH] 310-01 |3,0009 %300 x13]= 900
5) AFE 1] 210-01 30,0009 x4 x13]= 120
6) A &1 210-11 |50,0009 x41% x13]= 2,050
7) YAHEE 210-01 |20,0009x10% x 18] = 200

4 47,662 43,709 3,953

AR LA 3} 39,247 35,979 3,268

1. FAEAS S 39,247 35,979 3,268
7} A FAL 7] 38,887
D 71&w 110-04 |1,746,0009 x 129 = 20,952
2) VMErd 110-04 |40,000¥ x12¢¥= 480
3) WE X ZH 110-04 |60,00091 x12¢¥= 720
4) dFILETE 110—-04 |103,65091 x 249 = 2,488
5) §21] 110-04 130,000 x12¥= 1,560
6) A5 110-04 |1,145,0009 x 2 = 2,290
7) A7) 110-04 500,0009 x 23] = 1,000
8) A7l 110-04 |300,0009 x 23] = 600
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4% )
)=]
s AN R E RN 20199 (A) | 20184(B) | Z%(A-B)

9) ub=3]H x| 240-02 |283,0009 x 2= 566

10) =91+ 320-12 |28,826,400€ X 4.5%= 1,298

11) AZR3F 320—12 |28,826,4009 X 3.23%= 932

12) Q177 Qokn 3 320-12 |932,0004 X 7.38%= 69

13) 18413 320—12 |28,826,4009 X 1.5%= 433

14) AHA| 2.3 320-12 |28,826,4009 X 1%= 289

15) §A= 320-12 |2,605,0009 x 2= 5,210

BRI AR=DA RS RE| 220-01 20,0009 X 183]= 360
AP =334 1 8x 8,415 7,730 685
1. 38w dedg 5,000 5,000 0

7h ZES/WAE 05 5,000

1) AR 210-06 |40,0004 x 3 X 303] = 3,600

2) T A =] 210-11 |100,0009 x 14t]= 1,400
2. TR N3 3,415 2,730 685

7v FaddetE T gl 3415

1) &g=ut 210-01 |55,0009 % 14 x 33]= 165

2) 7 (A 440

7h 7] 210-06 (70,0009 x4 x 13]= 280

W) =3} 210-06 |40,000491 X 47 X 12| 3k= 160

3) A 1,120

71 78 210-06 40,0009 x 147 x 18] = 560

W) 27 210-06 |20,00049 X 14 x 24 7k= 560

4) A 24 210—-11 |50,0009) X 14% x 13]= 700

5) AFE <] 210-01 [30,0009¥ x25F % 13]= 750

6) o3 230-02 |15,0009 X 167 x 13] = 240
A S w5 A 5} 378,615 135,244 243,371
S AR 39,640 33,444 6,196
1. ASZSIAY LY 39,500 33,304 6,196

7h BAlE 5 10,000

1) A 210-06 |30,0009 x 107 x 303] = 9,000

2) ZdARA 8] 78] 210—06 |10,0009 X107 x103]= 1,000

L S 24 3HA 29,500

tedeAd - ASSHAS - uA G
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el R IR o e et A B GO
o )=
Bopnm f} Z; ?};3 ﬂg NERE = = 20199 (A) | 2018d(B) | =7 (A-B)
1) ZArd 21006 |40,0009 x 308+ x 1041 7k= 12,000
2) Z3AFAH]) AN 210-06 |20,0009 x 308} x 53] = 3,000
3) z}=Ed =g 210-07 [400,0009¥ x4th x53]= 8,000
4) Y= 210-15 [8,344¢1x779% x 13]= 6,500
2. 2EXTFAA A 140 140 0
7}, St AEZ AL 140
1) Apg=E 210-01 |10,00091 X 5% x 13]= 50
2) 823 230-02 |15,0009) x 37 x 23] = 90
ASSHFEAL 79,000 61,800 17,200
1. SAFELY 79,000 61,800 17,200
7h SATEEY 71,000
1) 258w 620-03 |500,0009 X709 = 35,000
2) =g 36,000
7H 29 620-03 |500,0009 x 52 = 26,000
) A 620—10 [500,0009 X209 = 10,000
. & - sAlEEA A 8,000
1) FAEF 210-12 |250,0009 X 4% x 83| = 8,000
St A SA| DA AN 259,975 40,000 219,975
1. A SAEHEY 259,975 40,000 219,975
7). g siEd gl A 259,975
1) =324 TFASHANE S 259,975
7h A AN 420-02 |250,000,000¢ X 3.27%= 8,175
) AJAdH] 420-03 12,500,0009 X100m'= 250,000
th) A EH] 420—-05 |250,000,000¢ X0.72%= 1,800
53854 4d 112,410 14,600 97,810
e En S84 st 108,410 11,600 96,810
1. AEs =29 108,410 0 108,410
7F AadEol 3kERA 108,410
1) AAYR] (A2 A5) 210-06 |3,300,0009 X 13.= 3,300
2) A 420-02 |100,000,000¢ X5.11%= 5,110
3) AlAdn] 420-03 |100,000,000¢ X 11= 100,000
EstY Esto| gl A w52 ¢ 4,000 3,000 1,000

B - FOlUEFERE - WE-GHBFAL - FHVFAL - GEFURQOIBFUEA L AA Y
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TS A A (s : A 9)
o | A RERE %A% RENE 20199 (A) | 20189(B) | Z7H(A-B)

1. GE3 U 2&71 3 w8 R 743 4,000 3,000 1,000

7h ol Aol ety oy 3l 605

1) AAEG 210-06 |40,00091 x5 x 13]= 200

2) 7k 310-01 |3,0009 %159 x13]= 45

3) AFEL9) 210-01 |30,0009 X105 % 13 = 300

4) APRLeE 210-01 |10,00091 X 6% x 13]= 60

v FAGESAE G5 2,295

1) 211 310-01 (18,0009 x 457 x 13]= 360

2) 7+21n] 310-01 (13,0009 x 457 x 13]= 135

3) x=EFAd =g 210-07 [700,0009 X 11X 13]= 700

4) A& n] 210-12 |20,000¢ x 457 x 18] = 900

5) AALLE 210-01 (50,0009 X 4% x 13]= 200

=S ke o A ARy 1,100

1) A (LRh) 680

7hH 7)1 210-06 |160,0009 x 27 x 18] = 320

W) %3 210—-06 90,0004 X 21 X 24| b= 360

2) 7FAn) 310-01 |3,00091 % 15% x 23] = 80

3) WAEE 210-01 |15,0009 x 11% % 28] = 330
Rk SR =] 10,548 6,008 4,540
R R R SR =i ] 9,808 5,268 4,540
1. 3RS T &A= ¢ 6,240 1,700 4,540

7h, SRR -1 3] 6,240

1) & 4,650

7hH =58 620—03 4,650,0009 X 11.= 4,650

2) S AHEEY 1,090

7hH 5w 620—03 1,090,0009 X 11.= 1,090

3) SR RASA Y 500

70 AR (LR 250

(1) 71& 210-06 160,000 x 17 x 18] 160

(2) %3} 210-06 90,0009 X 17 X 14]3k= 90

W vz 210-01 |14,000€ x 30 X 14| 7}= 42

th An] 310—-01 (18,0009 x 267 x13]= 208

SRS - BE-RGBEAL -

SAAEAE — A RAEA ¢
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GRIE L)

AFA U < A5 ArEU S 20199 (A) | 20189 (B) | FH(A-B)
2. 32985 x4d 2,340 2,340 0
R R 2,340
1) AFEIte] 210-01 |40,000¢] x 2874 x 28] = 2,240
2) YALEE 210-01 |10,000€ x 5% x 23]= 100
3. AT 1,228 1,228 0
7t Sk A S 1,228
1) 24 210-04 |8,0009 X527 x13]= 416
2) 2zt w 210-07 [500,0009 X 1th x 18] = 500
3) AP =N 210-01 |3,0009 x52% x 18] = 156
4) $98% 210-01 [3,0009 X524 x13]= 156
NZHAAY 740 740 0
1. SR ZG e Ankx g 740 740 0
7k St mE g ol 740
1) 2] 210—04 8,000 X309 x13]= 240
2) TAF¢] 210-01 10,0009 X307 x13]= 300
3) WAEE 210-01 |50,0009 x 4% x 13]= 200
149,923 156,975 27,052
9324 149,923 156,975 A7,052
1. 8l (Wee) ZZAELY 149,923 156,975 A7,052
7}, Q1 71n] 91,423
1) A7 EAE 59,284
7h 7185 110-04 |1,977,9109 x28 x 129 = 47,470
W) ALz 110-04 |14,195€9 x 27 X 1204 7k= 3,407
th 2] 110—-04 [130,0009 x2% x129= 3,120
2} Axed 110-04 |75,7009 X1 X174 = 1,287
u}) A F 7] 110—-04 |500,0009 x 2% x 23] = 2,000
v A7 A o 110—04 |300,000¢ X 27 x 23] = 1,200
A} EhE=E E A1) 240—-02 400,000 x 2 x13]= 800
2) A}3 & A} 32,139
7D 712+ 110-04 |1,834,14099x 18 x12¥= 22,010
W &4 110-04 [220,0009) x1%¥ x129= 2,640
ohH WEH ZH]| 110-04 |60,0009 x 17 x129= 720

AGBEAL - PR REAA 15/42




S A= RO (] - A9

[e) 1=}

o | A PR CH AE o 20199 (A) | 2018d(B) | FTHA-B)
o) AL ETE 110-04 15,1659 % 1% X 1204 7k= 1,820
up) F24] 110-04 [130,0009 X1 x 129 = 1,560
v Ax}g 110-04 (81,6889 X1 x17%U= 1,389
AhH HWHEEZ 7 110-04 |500,000¢ x 17§ x 23] = 1,000
o) A7 Aol F 110-04 [300,000€ x 11 x 23] = 600
) b3 H ) n 240-02 |400,00091 x 17 x 13]= 400

L AR 17,740
1) =& 320-12 |91,421,8869 X 4.5%= 4,114
2) A74R3 320—-12 |91,421,88691%3.23%= 2,953
3) =917 ek 3 320—12 |2,952,9279 X 7.38%= 218
4) 1E&RY 320—-12 |91,421,8869x1.499%= 1,371
5) AHA B3 320-12 |91,421,8869x0.799%= 731
6) E2 = 8,353
7 AEAFAL 320-12 |2,607,0009 x 27 = 5,214
) A}3|E x| A} 320-12 |3,138,95091 x 1= 3,139

o}, AEA QI E o) 220-01 |20,000€ x 3 X 12038] = 7,200

g}, 9-on 32,760
1) TAFYUA 7| = 210-01 |350,0009¢ x 23] x 13]= 700
2) AEF9 210-01 |100,0009 X 5% x 13| = 500
3) A=) 210-11 |20,00091 x5% x 53] = 500
4) AREU A0 210-09 |5,0009x10% x103]= 500
5) dH&F 210—11 [100,0004¢ X 5% x 13]= 500
6) AFE-&E 210-01 |5,0009 X 25% x 43]= 500
7) BAFLE 210-01 |20,0009 X 5% x 53] = 500
8) HIA 210—-01 |500,000¢ x 43]= 2,000
9) T QFUAA 210-02 |295,0009 x12¢= 3,540
10) AE 223 ) 210-10 150,000 X 103] = 1,500
11) 2 72:899n) 210—-15 |2,000,000¢) X 53]= 10,000
12) A& AA 210—-15 |350,000¢ % 23]= 700
13) TREFE 210—-15 |950,000¢) X 43]= 3,800
14) A EAAN 210-15 |880,0009 x738]= 6,160
15) 7798 A 210—15 |340,000¢) x 43]= 1,360
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(9] - )

A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)

vt vl E T 800
1) SA=xg]7) 430-01 800,0009 x 1t]= 800

80,970 30,000 50,970

oS 80,970 30,000 50,970

1. AZAEE2 1AL 80,000 0 80,000
7h R zZA QA DA 80,000
1) xzukeks] ey 50,000
7hH A<t 210-01 [100,0009 x52] x 13]= 500
) ZdArE (AR 7,500
(1) 7]1% 210-06 160,000 x30% x 18]= 4,800
(2) =¥ 210-06 90,0009 X309 X 1A 7k= 2,700
th 2y] 310-01 [8,0009 X 60 x 13]= 480
2h) 7+21n) 310—01 3,0009 X 4507 x 23] = 2,700
) FEAEE 210-15 |30,0009 X 9F x50 A= 13,500
Hh) 2kl a 210-07 500,0009 x 10t x 18] = 5,000
AP AFRLE 210-01 50,0009 X 64% x 13] = 3,200
o}) SYAFE-E 210-01 |42,8009 X 8F X50F- A= 17,120
2) AZAPZZ IHL-Y 30,000
7 ZElAtg 210—07 [500,0009 X 10th x13]= 5,000
W) AzAA4 9 210—-12 |40,000€ X 1907 x 18] = 7,600
h R EZH| AP 210-12 |80,0009 X 1909 x 13| = 15,200
2h) mAXEASF 300
(1) A=A = 210-01 |5,3009 X 20% % 13]= 106
(2) A (LR 110
b 712 210-06 (70,0009 %17 x 13]= 70
h =3 210—06 [40,0009 X 1 X 1 A]7k= 40
3) Y= 210—01 14,0009 X 31| x 2A] 7}= 84
ul) AH] 210—04 8,000 x40 x 18] = 320
v 7+-An] 310-01 |3,0009 x 2109 x 13]= 630
Ab) ALE= 210—-01 |95,0009 X101 x13]= 950

2. AR = 970 0 970
7F A A A A 3 970

EuS - W -z G - AEREGuS 17/42




R

AF A= AEU 2019¢(A) | 2018€(B) 7 (A-B)
1) A=A=F 210-01 3,000 X 1208 x13]= 360
2) ZAHEE (L) 250
b 7= 210-06 160,000 %19 x13]= 160
W) =3 210—06 90,0009 X 19 X 1A]7}= 90
3) 7-4n] 310-01 |3,0009 %1207 x 18] = 360
300 300 0
dsrA g #g 300 300 0
 FGEEAEASEL YA 300 300 0
7} FEuTA BB 300
1) 393 230—02 15,0009 x10% x 23] = 300
TSEX] R 2,412,709 2,006,279 406,430
W3l 5= 35 9% 300,000 300,000 0
o9 300,000 300,000 0
IS R R PR 300,000 181,050 118,950
7h g g A 300,000
1) 2538w 620—03 12,070,0009 X 151= 181,050
2) s 70,240
7H 9 620-03 9,765,000 X 61L= 58,590
) A 620—10 11,650,0009 x11L= 11,650
3) A5 48,710
7H 34 620-03 [12,900,000¢ X 232.= 25,800
) A 620—10 |22,910,000¢ x 1= 22,910
1,641,709 1,537,887 103,822
AH| A Y 1,641,709 1,537,887 103,822
1. 3o]&F g3 1,437,087 1,426,525 10,562
7F 84X 620—03 |88,572,0009= 88,572
U x5 3ky 620—-03 |528,403,0009= 528,403
o}, 2w 359,821
1) 39 620—-03 |283,512,0009= 283,512
2) A 620—10 |76,309,0009= 76,309
& 15sky 460,291
1) 39 620-03 |250,104,0009= 250,104
W - FolEFTIS - AFHEAAY - AL - Ar|sFAnA L 18/42




CA)

54

AhE

20194 (A)

2018 (B)

7ZH(A-B)

620-10

620-03
620-03

620-03
620-10

620-03
620—-10

620—-03
620-03

620-03
620-10

620-03
620-10

210,187,0009=

3,739,000 =
21,720,000¢ =

12,234,000 =
3,198,0009=

9,458,000 =
9,651,000 =

9,132,000¥ =
53,472,000¢ =

29,030,000¢ =
7,377,000 =

24,783,000¢ =
20,828,000¢ =

210,187
60,000
3,739
21,720
15,432
12,234
3,198
19,109
9,458
9,651
144,622
9,132
53,472
36,407
29,030
7,377
45,611
24,783
20,828

111,362

60,000

33,260

470,000
470,000

20,000
20,000

450,000
450,000

210-01

310-01
310-01
310-01
210-07
210-07
210-01
230-02

100,0009¥ X 10& x 23] =

50,0009 x 1004 x 29 =
8,000¢ X 1009 x 103 =
3,0009 x 1007 x 43 =
1,000,0009 x 14 x 23] =
600,0009 x 1t} x 23] =
100,000 X 8% x 23] =
15,000€ X 207 x 203] =

470,000
32,000
2,000
24,000
10,000
8,000
1,200
2,000
1,200
1,600
6,000

20,000

450,000
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At < A& AU S 201949 (A) | 2018d(B)
U}, w) g 20 s S 62,500
1) ol w7 2 AlE 54,000
7hH e 210—13 2,000,0009 x 171 & x 127 8= 24,000
) glrds 420—03 20,000,0009 x 14 = 20,000
oh Y FuE 430-01 1,250,000 x 8% = 10,000
2) v A gtEEoty 8,000
7hH ATu|RY 240-01 2,000,000 x 48] = 8,000
3) SRR aEA At 500
7P APE8E 210-01 |100,000€ xX5F x13]= 500
t}. v} E = S 162,000
DDLU S L R 56,000
7H A2 A = 210—01 | 1,500,0009 X 43.= 6,000
W) AT 210-06 |150,0009 X 203 X 53] = 15,000
) A E 210-07 |500,00091 X223 X 18] = 11,000
2hH A 3@n) 210—-12 |20,00091 % 1,000 x 13]= 20,000
vl SAFEE 210-01 [50,0009¥4 X10& *x43]= 2,000
Hp) W 3 g-= 210—-15 50,0009 X 8% x 53] = 2,000
2) S-gnpL g 31y 10,000
7H AR E A = 210-01 |2,500,0009 x 4% x 13]= 10,000
3) PR Aol A € 96,000
7 E A7) 210-01 [800,000€1 X 1% x53]= 4,000
) keI & st A €l 22,000
(1) A w(EW) 210—06 200,000€ X 23 X 53] = 2,000
(2) 7FHm|= 430-01 1,250,0009 X 16%= 20,000
oh whe A F 7] phebet g 50,000
(1) &A1 210-01 |60,0009 x24] x 43| = 480
(2) A=A = 210-01 5,00049 X 1,000% x 13]= 5,000
(3) 7F2n) 310—01 3,000€9 x 2007 x13]= 600
(4) AR = 210-07 200,000 x 14 x13]= 200
(5) AFR-LE 210-01 20,0009 X115 x13]= 220
(6) WAHEF 210-01 [100,0004¢1 X 5% x 13]= 500
(7) TREE 210—15 50,0009 X 2% X 3032 = 3,000
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PARSRS I =S AEU S 201949 (A) | 2018 (B)
(8) B+t3]L-odn] 21015 |2,000,0009 X 10& x 28] = 40,000
2} 1A A=A LA 5 20,000
(1) AP LF - T RN 210-01 |50,000¢ x 2% x 203] = 2,000
(2) R AGFxA 5K 210-13 |18,000,000€ x 124 x13]= 18,000
2} s 2 A B S 113,500
1) PEenLsyea 10,000
7hH ALE =Y 210-06 |250,0009 X 10% x 43]= 10,000
2) WS E 294 % ¢ 5,000
7H 52T HLE 210-01 |100,000€9 x10F x 58] = 5,000
3) np&A /\gu OFA] 7} 4] 10,000
Vi RAT = 210-06 |30,0009 X 27 X 40413k x 43 = 9,600
) A]—%%—% 210-01 |50,0009 X 2% x 411= 400
4) PHE A BEA 9 68,500
7h W57 210-01 |1,000,0009 X 1% x53]= 5,000
W)zl xtg 210-07 [450,0009 x30t) x13]= 13,500
th St S =27} 310-01 |25,000€ x1,000% x 28] = 50,000
5) FheA B etH YA ¢ 20,000
7P ZEFd e 210-07 |400,0009 X 10t x 13]= 4,000
) ) &u 210—12 |20,000¢ x800% x 13]= 16,000
uh Bl R E T 100,000
1) AQE3wS24 10,000
7 A s A = 210-01 |20,0009 X 100% x 18] = 2,000
) A (LA 210-06 |50,0009) X 10% x 103]= 5.000
th Al xtw 210-07 |500,0009 x 22 x13]= 1,000
) YA LE 210-01 |50,0009 x 20%F x 23] = 2,000
2) WA Ftst 10,000
7h Zola] = 240-01 |2,000,0009 x 5% = 10,000
3) S LKLY 35,000
b A A w 210-07 |400,000¢ x 20t x 1 3] = 8,000
) 9Erey 210—13 [2,000,000€ x17]¥x33]= 6,000
th Aln] 310—01 |8,000¢x1,000 x13]= 8,000
2h) 72N 310-01 |3,00091%1,000™ x13]= 3,000
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T EH Y )
?}ﬁg ﬂ:g Al el == RENE 20194 (A) | 2018€(B) | Z7HA-B)
nh) PALLE 210-01 |50,000¢1 X 100% % 23] = 10,000
4) P H YA 45,000
7h ¢d+d 210-06 |50,000¢1 X100 x 43]= 20,000
h At s 210-07 |500,00091 x 24 x 13]= 1,000
th A& &En) 210-01 |20,0009 X500 x 23] = 20,000
b WALLE 210-01 |50,000¢) X 20% X 43]= 4,000
DESEX LAY 1,000 1,000 0
AGEXS MR 1,000 1,000 0
1. LHEA AR G &G B 1,000 1,000 0
7h FolEAA T Y 1,000
1) AR (b 500
7h 7] 210-06 |160,00091 %29 x13]= 320
) %3 210-06 90,0009 x 27 X 14| 3= 180
2) Y= 210-01 [14,0009 x 31l X 2A] k= 84
3) An] 210-04 |8,00091 X109 x 23] = 160
4) 7FAH) 210-04 |3,0009 %107 x 63]= 180
5) AFLE 210-01 |19,0009 x 4% x 13]= 76
N /ASEE 272,938 74,419 198,519
RAAY 3,460 2,744 716
S r AT 1,120 404 716
1. RANSHZ LY 1,120 404 716
7b ARG AAAS 1,120
1) A 500
7 ZEH oS 210-06 100,000 x 3% x 13]= 300
W) A AT S 210-06 40,0009 x5 x13]= 200
2) 18 210-01 |14,0009 x 3™ x103]= 420
3) AILE 210-01 |50,0009 x 4% x 13]= 200
e e e P )| 2,340 2,340 0
1. aH=Eag 360 360 0
b BRFAAA} 360
1) AAFETE 210-01 |36,0009 X 103] = 360
2. FUFHISHERS 1,980 1,980 0
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(9] - )

At Ul o A5 g 20199 (A) | 20189 (B) | #(A-B)
7F A5 HH 593 1,980
D AT 210-06 |80,00091 x 127 x 23] = 1,920
2) YAHEE 210-01 |20,0009 x3%= 60
245,758 47,555 198,203
= 2,995 2,749 246
= AR R R B R 2,995 2,749 246
7}, St A RA A A 1,000
1) ZArd (4R 400
7H 71E 210—06 70,0009 x4 x13]= 280
W) %3 210-06 |40,0009 x 3% X 1A]7F= 120
2) A 210—01 14,000 X 31} x 5A] 3} = 210
3) 7+ 210-04 |3,0009 X130 x13]= 390
o Bk 91 A A e 1,995
1) 3459 210-06 |50,0009 %189 x 23] = 1,800
2) | EAAEF 210-01 |75,0009 X 1 % 18] = &
3) ¥4 3 230-02 15,0009 x 87 x 13]= 120
B F2Ae9 8,007 8,007 0
SR FASNAFE G A 8,007 8,007 0
7}, FA 224 8] 620-03 |2,669,000¢ x 3th= 8,007
s FA A NA 234,756 36,799 197,957
- SR R A APPSR 234,756 36,799 197,957
7} FA A A 8 160,643
1) =3%% 60,862
7H A AM) 420-02 |56,240,0009 X7.149%= 4,021
) A 56,240
(1) ZE AT A== 420-03 |2,562,0004 X 20m'= 51,240
(2) AAN 420-03 5,000,000¢ x 12]= 5,000
oh) AJA R ) 420-05 |56,240,000¥ X 1.068%= 601
2) SH=x 66,504
7} AN 420-02 |61,488,0009 X7.108%= 4371
) A)Adn] 61,488
(1) 2EFFudzAdFALSH 420-03 [2,562,0009 X 24 m'= 61,488
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4% (9] D)
Al A el 2= N 20199 (A) | 2018d([B) | E#(A-B)
A B B - s = = Che

) A]AdEn) 420-05 |61,488,0009 x1.048%= 645

3) TYx 33,277

7h A AH] 420-02 30,744,0009 X 7.159%= 2,201

L) A]AdH] 30,744

(1) G A== 420-03 [2,562,0009 X 12m'= 30,744

th A FEH] 420-05 |30,744,0009 X 1.079%= 332

U =S FA 7| T A 74,113

1) =58t 620—03 133,945,000 = 33,945

2) =g 29,582

7H 39 620—03 |14,274,0009= 14,274

W) A 620—10 15,308,000 = 15,308

3) 158w 620—03 [10,586,0008 = 10,586
o3 &5 23,720 24,120 A400
A& 3R 23,720 24,120 A400
1. AFAEASH 4,000 4,000 0

7t A=A A S 8 4,000

1) A3 310-01 |50,000¢] x40 x 23] = 4,000
2. 71etA S § 19,720 20,120 £400

7}, S =ef o) 3 14,060

1§73 3] 5,080

7h Adagd 1,500

(1) 7% 210—06 40,0009 x 25% x 13] = 1,000

(2) =7} 210-06 [20,000€ X259 X 1A 7t= 500

h) AH) 210-04 8,000 x 307 x 23] = 480

th 72 310-01 |3,00091% 2007 x 13| = 600

) A5 310-01 |10,0009 X 200% X 13]= 2,000

uh) 3] &= 210—01 [50,0009 X 10& % 13]= 500

2) w7l g 3,500

7h A 800

(1) 7] 210-06 |40,00091 x 107 x 13]= 400

(2) =7} 210-06 |20,0009 x 10 x 2] 7k= 400

) 21H] 210-04 [8,0009 X257 x13]= 200

- BA/FA/AEDE - AFASHE EE - A5 Ad
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(9] - )

gofng o7 i o AR sz A2 20199 (A) | 20189 (®B) | % (A-B)
R S I R B 2 B o e - - °r
) A5uE 310-01 |150,000€9 x10% X 18] = 1,500
) AFEe] 210-01 100,000 x10% x 18] = 1,000
3) 43 3,200
7hH A 600
(1) 7]1% 210-06 |40,0009 X107 x 13]= 400
(2) =3} 210-06 |20,0009 X107 X 1A 3= 200
) 2] 310-01 |8,0009 %1007 x 13]= 800
th 72 310-01 |3,00091% 1007 x 13| = 300
2h) A 310-01 10,0009 X 1007 x 18] = 1,000
uh) )3 L= 210—-01 |50,000€ X 105 x 13] = 500
4) =3 2,280
7hH A 480
(1) 7] 210-06 |40,00091 x 87 x 18] = 320
(2) =3} 210—-06 |20,0009 x 8% X 147} = 160
) 7HA1n] 310—-01 |3,0009x100% x 13]= 300
h A5uE 310-01 |10,000€ X 1007 x 18] = 1,000
) o3 eF 210-01 |50,0009 X 10% % 13]= 500
L, w5zl o 3 5.660
1) =733 5,660
7)) Zuk] 310-01 |40,000€ x 421 X 25]= 320
(BEEPARE] 310-01 |8,00091 X607 x53|= 2,400
th 7HAH) 310-01 |3,000¢1 X 60 x 33]= 540
) A s 210-07 [550,0009 X 21| X 18] = 1,100
o)) o3 LE 210-01 |50,000€ X 20% x 13] = 1,000
ul) & o] 3] 230—-02 15,0009 X 107 x 23] = 300
8w A A 2] L #E) 5,990,901 5,793,369 197,532
TR R B | 4,616,077 4,355,850 260,227
CIRTRCRC: R B I 4,616,077 4,355,850 260,227
1. w7 & 4,616,077 4,355,850 260,227
7h 429 620-02 |630,870,000¢ = 630,870
U 258w 620—02 |2,869,891,000¢= 2,869,891
t} Fskw 620—02 |1,115,316,0009 = 1,115,316
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s B =t At A B R (The] : 29
= 1=}
Bopnm f} Z; ?};3 ﬂg NERE = = 20199 (A) | 2018d(B) | =7 (A-B)
AbeA A =) & 1,374,824 1,437,519 A62,695
JANARFATA Y 1,142,980 1,176,797 A33,817
1. QA AR AT R Z 1,142,980 1,176,797 A33,817
7} A8 A Y 620—08 |1,142,980,0009 = 1,142,980
Lgn AR AR A 231,844 260,722 A28,878
1. 9| AR R Z 231,844 260,722 A28,878
7}, & 7] B8-S ] 620—09 [231,844,000€= 231,844
St WS AN HA A 4,869,947 3,839,209 1,030,738
SR MNAAA 4,869,947 3,819,595 1,050,352
S A A TS AMA 4,869,947 3,819,595 1,050,352
1. ZA A 842,322 463,673 378,649
7}, npet 260,550
1) A]Adn] 258,150
7hH A% 420-03 |15,160,0009 x 44 = 60,640
W 3ol 420—03 15,160,0009 x 24 = 30,320
th AJAbx 420-03 15,160,0009 x 1= 15,160
) &dx% 420—03 24,075,0009 x 34 = 72,225
) BEx 420-03 15,160,0009 x0.54 = 7,580
nh) S3olz 420-03 |24,075,0009 x 34 = 72,225
2) A F-H) 420—-05 258,150,000 X0.9295%= 2,400
L} vk 89,478
1) AN 88,635
7hH A E 420—-03 19,330,0009 X 7.5 = 69,975
) = 420-03 |9,330,000¢1 x 24 = 18,660
2) Al E ) 420-05 |88,635,0004 X0.951%= 843
o} A3 A 330,684
1) A]Adn] 328,320
7hH AA = 420—-03 21,020,0009 x 34 = 63,060
W 4% 420—03 21,020,0009 x 34 = 63,060
h §5x% 420—-03 21,020,0009 x 34 = 63,060
th Fux 420—03 21,020,00049 x 2,54 = 52,550
) 5Ex 420-03 21,020,0009 x0.54 = 10,510

o
B
to
|
04
]
=1
=
&l
to
2
i

AN — B EGBF WAL — Stw A w28 A
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GRIE L)

A S == A5 AHEU S 20199 (A) | 20189 (B) | TH(A-B)

v &l 420-03 [21,020,0009 X34 = 63,060
A S=3bol = 420-03 2,170,0009 X 62 = 13,020
2) /\] SR 420—05 [328,320,0009 x0.7199%= 2,364
ZdFA 34,235
1) Al ] 33,850
VA I e 420-03 13,470,000 x84 = 27,760
W) exx 420-03 1,740,000 x 32 = 5,220
oh 5% 420-03 1,740,0009 x0.54 = 870
2) Al Foin] 420-05 |33,850,0009 x1.1371%= 385
ab, A5 K15 86,903
1) AldH] 86,085
7hH =3= 420-03 [19,130,0009 x 4.5 = 86,085
2) Al o] 420-05 |86,085,0009 X0.95%= 818
vh, AR 40,472
1) AlAdn] 40,025
7hH FYx 420-03 10,670,000 x 2.5 = 26,675
Ur) S = 420-03 |5,340,0009 X 2.54 = 13,350
PARSE-Ra i) 420—05 40,025,00091 x1.115%= 447

2.‘& AR 703,892 284,756 419,136
7h @ AN 703,892
1) AlAdH] 699,110
7hH &3S % 420-03 |7,310,0009 X274 = 197,370
W) o3z 420-03 7,310,000 X 334 = 241,230
o) SHx 420-03 |7,310,0009 x 184 = 131,580
2} =FolF (A EF) 420-03 |4,520,0009 X 7.54= 33,900
ul) &=HFol= 420-03 |7,310,0009 x84 = 58,480
vh) AL 420-03 |7,310,0009 x 54 = 36,550
2) Al Eon] 420-05 [699,110,0009 X 0.684%= 4,782

3. ZAAAAXA 15,000 15,000 0
A ek e P R 15,000
1) AlAdn] 15,000
7hH BEx 420-03 15,000,0009 X 1 5= 15,000

AN - BERAAANA — S w8
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o7 GOREE)

Al H -
s NERE B HE ] 20199 (A) | 20189(B) | 24 (A-B)
4, A2t A 1,271,232 749,368 521,864

7} W3k EH 40,143
1) A]%dn] 39,700
7hH EEx 420-03 |7,940,0009 x 27 == 15,880
W =3 x 420-03 7,940,0009 X 37) 2= 23,820

2) Ao 420—-05 39,700,0009 X 1.1155%= 443
NS 239,333
1) AAm] 420-02 214,846,000 X 3.3155%= 7,124
2) Al 230,741
7hH =32 % 420—03 12,270,0009 X 1.54 = 18,405

W 3= 420-03 |132,710,0009 x1.64= 212,336

3) Al -t 420—05 206,000,000 X0.7126214%= 1,468
o AXYEY 233,240
1) A]4dn] 233,240
7hH 3T d= 420-03 [112,179,0009 x 14 = 112,179

W 3= 420-03 |121,061,0009 x 14 = 121,061

I R A R e 2,428
1) A]dn] 2,428
7h A= 420-03 |4,0009 x607m'= 2,428
vk 24 5H 7t 53,000
1) AlAdH] 53,000
7hH &dx 420-03 26,000,000¢ x 14 = 26,000

) A== 420-03 27,000,000 X 14 = 27,000

v}, =gto|u| E 695,424
1) A Am] 420-02 676,989,000€) X 2.723%= 18,435
2) Al 676,989
7H =3= 420-03 356,310,000 x 14 = 356,310
W) =30l 420-03 |320,679,0009 X 14 = 320,679

AL Al F- ) 420-05 |1,204,990,000¢ X 0.636%= 7,664

5. JF-FHNA 1,585,416 1,341,483 243,933

7} 2% 841,881
1) AlAdH] 841,881

m
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27 (9] : 2 9)

ﬂfg Al el 2= RENE 20194 (A) | 2018€(B) | Z7HA-B)
7 A% 420-03 [91,00091 x1,745m'= 158,795
W) 23x 420-03 91,0009 x 1,445m'= 131,495
) 5% 420-03 19,0009 x1,070m'= 20,330
) =% 420-03 |242,0009 % 350m'= 84,700
ol #x| % 420-03 91,0009 x1,169m'= 106,379
v &z 420-03 19,0009 x 1,650m'= 31,350
AP ZAZ 420-03 91,0009 X 155m'= 14,105
o}) L= 420-03 91,0009 X 184m'= 16,744
) o= 420-03 19,0009 x 3,657m'= 69,483
2D =FAEzd= 420-03 91,0009 X 1,300m'= 118,300
D e 420-03 |242,0009 % 200m' = 48,400
[SEPAPSES 420-03 91,000¢ X 300m'= 27,300
) FAkx 420-03 |58,0009 X 250m'= 14,500
s e e R e MR 60,000
1) AlAdn] 60,000
N =ZE 420-03 |20,000,0009 x 17} 4= 20,000
W) 3ol = 420-03 |20,000,0009 x 17 &= 20,000
th F4x 420-03 |20,000,0009 x 1 /2= 20,000
. e st xzAA 10,000
1) A2 10,000
7H TEE 420-03 |5,000,0009 X 17 &= 5,000
W) sz 420-03 |5,000,0009 x 17] 2= 5,000
ot AAETAIA 380,140
1) A4 380,140
b E9x 420-03 |1,660,0009 x 85m= 141,100
W) A== 420-03 |1,660,0009 x 22m= 36,520
h 2H% 420-03 |1,660,0009 x 122m= 202,520
o}, B 9,300
1) 3% 420-03 19,300,000 x 12]= 9,300
v}, vl 2 167,024
1) A A 167,024
7h A= 420-03 |292,0009 X 45m= 13,140

m
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(29 : 1)

A S == A5 AU S 2019¢(A) | 20184 (B) ZH(A-B)
W} 5% 420-03 292,000¢ X 220m=
h 5% 420-03 |292,000€1 X 117m=
Zh AlAkx 420-03 292,000¢ X 160m=
"h) =3 x 420-03 |292,0009 X 30m=
AR S
1) Al
7h =3odE 420-03 |340,00091 X 270m=
of, Altr
1) Al
7H FEE 420-03 [17,790,000¢ x 14} =
P APARSE-Ra %) 420-05 |1,577,935,0009 % 0.47407%=
6. A7 A ANA A214,102
7} = A1 (LED)
1) AlAdn]
b =3x 420-03 |3,820,0009 x13.54 =
) 1% 420-03 |3,820,0009 x 132 =
. 5ol
1) Aldn]
7P A% 420-03 |15,000,000¢ x 14 =
ok Al STy 420-05 |116,230,0009 X 0.8705%=
7. AN A54,451
7t s A
1) A 420-02 |322,700,0009 X 3.043%=
2) Al
7h FYx 420-03 |38,870,0009 x 3.54 =
W) SHdx 420-03 |132,710,0009 X 0.5 =
o =AU 420-03 |20,050,0009 X 621 =
3) ATt 420-05 |322,700,0009 X0.7197%=
548
548
A SEd3A 4 0
A9 A ¢ 0
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el R IR o e et A B (9] : A9
7| (e} =]
wopvy S0 | 2R | AT NERE 2 4% Ao} 20199 (A) | 20189(B) | Z%(A-B)
1. 73234439 480 480 0
7). A e 210-06 |80,0009 x 67 x 18] = 480
2.4 ugLT2EAd 150 150 0
7}, & 2 3 230-02 |15,00091x10% x 13 = 150
PP &e-G= Y 60,600 60,600 0
1. 3ASLEALIX L 60,600 60,600 0
7h A A A E R 30,600
1) AEA = 210-01 10,0009 X 3073} x108] = 3,000
92) A}k 210-06 40,0009 X 3075 x 108] = 12,000
3) 2] 310-01 |8,0009 x 159 x53]= 600
4) 7+2n] 310-01 |3,0009 %3078 x103]= 900
5) A 3] 210-11 |25,0009 %3075 x108]= 7,500
6) AP 210-01 (22,0009 X 3073 x 1038 = 6,600
L P R BTAS s A b ol 30,000
1) EXAEREs gz g 30,000
1 A 210-06 |40,000491 % 6% X 1003] = 24,000
) A=) 210-11 |50,000¢1 X 8% x 108 = 4,000
) APEgE 210-01 |50,0009) X 4% x 103] = 2,000
SXAEEE 82,752 82,204 548
EABRLGRY 82,752 82,204 548
1. TEEABEA G2 24,900 24,900 0
7}, T Q) 430-01 |15,00091 % 1,660¢= 24,900
2. FEENB(ELHE S 29,000 31,250 22,250
7}, A7 &g 7] 430-01 |25,000,000¢ x 1tf= 25,000
L, d3wA 210-01 |4,000,0004¢ % 14] x 13| = 4,000
3. gR A2 AL9A ¢ 8,280 16,000 A7,720
7}, AR E 210-02 60,0009 x12¥= 720
. A AFG%] 1 2=1] 210-09 380,000 x 129 = 4,560
t}. RFIDS-A] ¥.4=1] 210-09 |250,0009 x 129 = 3,000
4. AR 2 ARE S 2,000 2,000 0
7} g A" A7 Q) 430-01 20,0009l X 100%= 2,000
5. T3 =X BE 3 P Y 2,640 0 2,640
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(5] : 29)

At Ul o A5 AEU e 20199 (A) | 20189 (B) | 7 (A-B)

7h =X B3R EAL 300
1) &4=u}t 210-01 |60,0009 x 12} x13]= 60
2) AFEL9] 210-01 |20,0009 X 2% x13]= 40
3) SYALEE 210-01 |50,0009 x 4% x 13]= 200
L}, =] o] e} 2,100
1) A 210-01 |60,0009 x 12 x33]= 180
92) A}k 210—-06 |40,0009 X 27 X 64| 7= 480
3) A& 210-11 |50,0009 % 6% x13]= 300
4) AEZ 9] 210-01 [30,0009 X 3% *x63]= 540
5) SAIEE 210-01 |50,0009 X 2% x 63]= 600
ok =AM B d e 240
D ZAad 210-06 (80,0009l %3 x 13]= 240

CBEEAFASGN A Y 15,932 8,054 7,878
7h. oFHH| Q13 v 15,932
D 7189 110-04 [8,350¢ x 447k x 2939 = 9,788
2) F21n 110-04 [130,0009 x 19 x129= 1,560
3) WA F 7] 110-04 |500,000¢ x 17§ x 23] = 1,000
4) Az} 110-04 (30,0609 X1 x20%= 602
5) StE A HAN] 240-02 400,000 x 17 x 18]= 400
6) =uled 320-12 10,920,0009 X 4.49%= 491
7) AR 320-12 10,920,0009 X 3.22%= 352
8) &7 ok ¥ 320—12 |352,8009 X7.38%= 26
9) T4R3 320-12 10,920,000 X 2.14%= 234
10) AHA R E 320-12 |10,920,000€ X 1.04%= 114
11) §1+& 320-12 [910,000€9 x1.5d= 1,365

k7A 2,243,338 1,336,884 906,454

A R 1,887,322 876,460 1,010,862

9,115 9,001 114

GEE)) 5,095 5,470 A375

zls_gqj_r;ﬂ SRS ER] 5,095 5,470 A375
7h FodFA R 1,620
1) A=A = 210-01 |10,000€ X 36%-x 23] = 720
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(9] - A
At Ul o A5 g 20199 (A) | 20189 (B) | 7 (A-B)

2) 23] 230-02 15,0009 x15% x43]= 900

L G ST R s 3,475

1) A=A = 210—01 [10,0009] X 220% % 13]= 2,200

2) AAkabE A 2 210-01 |10,0009 x 20v} x 15 = 200

3) 721 310—01 3,000 X100 x 13| = 300

4) 398 310—-01 |250,0009 X 18 x13]= 250

5) AALLE 210-01 (50,0009 X 3% x 13]= 150

6) &3 230-02 |15,0009 %259 x 18]= 375
e 4,020 3,531 489
1. TS AYAAA LB 2,130 1,640 490

7h SA LAY = 9] A 3 2,130

1) A=Az 210-01 |10,0009) x 9% x 23] = 180

2) FAs=r} 210-06 (80,0001 % 6™ x 23] = 960

3) 241211 7] 210-06 20,0009 X6 x 23] = 240

4) JPARE 210-01 |20,000¢l X 12% x 28] = 480

5) 393 230-02 |15,0009 x99 x 23] = 270
2. AN EF S HYA A 1,890 1,891 Al

7h S g YA 1,890

1) A=Az 210-01 |10,000¢1 X 15%-x 38 = 450

2) A8 210-01 |50,0009 X 3% x 13]= 150

3) YALEE 210-01 |50,000€ x 2% x 33]= 300

4) ¥ 93] 230-02 |15,000¢ x 227 x 38]= 990
T A5 1,760 7,520 AB5,760
SR R R 1,760 7,520 25,760
1. ZSZTRGPELT 1,760 7,520 A5,760

VA ST Eata P 1,760

1) A=A 2 210-01 |2,0009¥ x500% x 18] = 1,000

2) ARG 210-06 |40,0009 X673 x 23] = 480

3) eHQF 210-02 65091 X 200% % 13]= 130

4) ¥2]3) 230-02 |15,00091x10% x 18] = 150
8,704 12,910 24,206
8,704 12,910 24,206
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S A= RO (] - A9

[e) 1=}
?};3 ﬂg Apeluj el B A o 20199 (A) | 20189d(B) | 272 (A-B)

1. AAZA 420 430 A10

7}, ZrALEE 1) 250-04 |5,0009 x 3% x 2838]= 420
2. YHAHFZAL 400 400 0

7}, A2 A 2 210-01 |10,0009 X 40%-x 15]= 400
3. FEA WY o473 3} 7,884 12,080 24,196

7 AEES A AT 4,584

1) 24] 210-04 |8,0009 x 477 x 48]= 1,504

2) Azt 210-07 |600,000¢l x 1t} x 28] = 1,200

3) AFEn) 210-01 20,0009 x 477 x 23] = 1,880

. o kA e st A A A 2,800

1) 2 210-04 |8,0004€l x 507 x 33]= 1,200

9) 2kol a2 210-07 |600,00091 x 1t x 13]= 600

3) APFEn) 210-01 |20,0009 x50 x18]= 1,000

o SHE " sy 500

1) 4759 210-01 10,0009 x 129 x 18] = 120

2) Al L 210-01 |10,0009 X 8% x 13]= 80

3) HALEE 210-01 |50,0009) X 65 x 13]= 300
71857} 2,060 2,000 60
71837} 2,060 2,000 60
1. A5y 7 1A 7HLA-Y 2,060 2,000 60

7h W5A LB 7t 2,060

1) A 7HA = A 23 500

7H A2 A 2 210-01 |5,0009 X 258 x 43| = 500

2) AHAIE 7191 9 3] 8- 1,560

7hH FH 210-06 80,0009 X 178 x 43]= 320

) 22 A8 ] 210-06 10,0009 X 3% x 43]= 120

th Aln) 210-04 |8,00091 X107 x 43]= 320

2} YALLE 210-01 |50,0009 x4 x 48] = 800
A5FFHA 2,480 2,650 A170
HANAGER L 2,480 2,650 A170
1. 3539 A%} 2,480 2,650 A170

7h E S FAAY 400
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TR ILFH A% )
o )=
o | A N 5% HE 20199 (A) | 20189(B) | 2% (A-B)
1) AETY 210-01 [50,0009 X 4% x 23] = 400
A R ek 2080
1) A= 210-01 |10,00091 X 54 % 23] = 100
2) A (e 400
7p 7)1 210—-06 |100,0004¢ % 17 x 23] = 200
W =3t 210-06 50,0009 X1 x4 7t= 200
3) AF&EFn] 210-01 |20,0009 x 15 x 23] = 600
4) 2n] 210-04 |8,0009 x15% x 43]= 480
5) WA 210-01 |50,0009 X 5% x 23] = 500
TE5FAY RS} 4,121 A1,232
TEPFYPHA ALY 4,121 21,232
1. A2k #E LY 3,461 A1,232
A BT = 2,000
1) PC¢ 210-09 50,0009 X 2% x103] = 1,000
2) AAAREEE 210-01 |100,0009 X 2% x53]= 1,000
U AP A B 1,461
1) EY A4 210-09 |18,260,000¢ X 8%= 1,461
2. FH 1A A #E 660 0
7h F o] A A gl A u] A 210-01 55,0009 x 129 = 660
IFPPYAEL | S ETE 320 320
IEPF7SEEY 320 320
1. 712 ERERATE 160 160
7} 7125 7N 2] 3] 160
1) &A=tk 210-06 (80,0009 x 27 x 13]= 160
2. AR FNLEY 160 160
o R ] e el 160
D ZA-3 210-06 (80,0009 x 21 x 13| = 160
H] A3t n] A 2 gl 8 gt 2,000 0
H] At A g 2 B kg 2,000 0
1. vt e A E L B 1,208 8
7F Ak st e 300
1) AAEE 210-01 [50,0009 X 6% x 13]= 300

Hg Lt — w g H A

9k — ] u] A 2 9w ok i)
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(9] - )

[e)
o RERE %A% A 20199 (A) | 20189(B) | Z7H(A-B)
v AP A 908
1) 21n] 210-04 (18,0009l x 529 x 13]= 416
92) 7HA1H] 210-04 |3,0009 x52% x 13]= 156
3) A& 210-01 |3,0009l x 529 x 13]= 156
4) YAEF 210-01 |20,0009 X 9% x 13]= 180
2. S AL 792 800 A8
7}, ¥ A1) 210-04 13,0009 x 367 x 43]= 432
U, SALSE 210-01 |20,000¢ x 18% x 13]= 360
dAA T 1,700 1,700 0
o) At 1,700 1,700 0
1. A58 AGRAEFA 1,700 1,700 0
7}, A2 A & 210-01 |10,000€) X 80%= 800
K 230-02 |15,0009 x 207 x 33| = 900
A F-# e 39,476 31,712 7,764
Z-F AL EZ 77 39,476 31,712 7,764
1. = - ZEAA 3,240 2,700 540
7V ARG N L S ST 210-01 |300,000¢ x 38 = 900
U 2H|Eo| &4 8 210-01 |100,000€ x 23] = 200
o}, @A &5 250—-04 |60,00091x 14 x12¢¥= 720
O R s S 880
1) g} 210-06 |80,00091 x 41 x 23] = 640
2) ¥ 9] 3 230-02 |15,000¢] % 8M x 23] = 240
ul, A2 9 3 230-02 15,0009 X 36 x 13]= 540
2. H 1 A AR 24,400 4,000 20,400
7}, ¥ w3 210—-15 [4,700,00049 x 21.= 9,400
U AEAA - AL 420-01 |4,00091 % 3,750m' = 15,000
3. AEAAAGFZA 3 1] 11,836 10,744 1,092
7F A A E A 3] 1) 210-02 |11,836,00091= 11,836
A u]] %) A & 1,679,216 657,777 1,021,439
A ) X) A) 2 B3 1,679,216 657,777 1,021,439
1. 82X 4 1,664,103 646,293 1,017,810
7F A A A A8 (8Th) 210—-07 |435,014,0009= 435,014
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(2] - ")
Al Az A 20194 (A) | 20189 (B) | X (A-B)

L, QFA 2] AR W] 14,782,0009 x 127 = 177,384
SR A Eat) S ATy 1,000
1) A (deh 300
7h 71 E 100,0009) x 17 x 23] = 200
W) 27 50,0009 X 17 X 2A] 7= 100
2) d1n 14,0009 x 3wl X 44| 7k= 168
3) 7FAln] 3,0009 X 647 x 23] = 384
4) PALE 37,0009 X 2% % 23] = 148
g}, Eshp A9 n 130,705,000 = 130,705
n}, Eahu ATe] 920,000
1) =3 (3491%) 115,000,000 x 8t = 920,000

2. SAEE Y 15,113 11,484 3,629
7}, eAH A 620-03 |15,113,0009= 15,113

Zu 783 S 11,915 6,406 5,509

Z1 783 8 11,915 6,406 5,509

1. ¢4 g3 A 3,925 3,406 519
7h St Sl 3,925
1) A=A=F 210—01 | 10,000€ X 10% x 33]= 300
2) &4=ut 210-01 |60,000¢ x 22] x 13]= 120
3) A (b 210-06 |160,000¢ x 2% x 18] = 320
4) Ay s 210-01 |14,0009 x 30}l X 2A] 7= 84
5) A|AelA}E 210-07 |201,0009 x 14 x 18] = 201
6) AFE9] 210-01 |30,0009 X 30% x 18] = 900
7) AFERE 210-01 |50,0009 x 10 x 18] = 500
8) SAFEE 210-01 [50,0009 X 5% X 33]= 750
9) ¥2]3 230-02 15,0009 x50 x 18] = 750

2. R Rty A A3 A ¢ 7,990 3,000 4,990
7h, SRR A 3oi A 7,990
1) A (5E) 3,500
7h 7)1 210-06 |200,0009 %1% x 108 = 2,000
W) %3 210-06 |150,0009 X 17 x 10A]7k= 1,500
2) ZFARAH] A 210—-06 |70,000€ % 1% X 103] = 700
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A AS R e SA 93 GEREE)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20199 (A) | 20189(B) | Z%(A-B)
3) 918 210-01 |14,0009 x3vl] X 2412k x 103] = 840
4) AALE 210-01 |50,0009 x 5% x 103 = 2,500
5) &3 230-02 |15,00091 x 107 x 33] = 450
A AAL G # e 124,455 137,431 A12,976
Al A e 124,455 137,431 A12,976
1. A A =224 124,455 137,431 A12,976
7}, B A A 9% e 117,159
1) 254 210-09 |88,506,000¢1= 88,506
2) HA e LA 210-13 |27,901,0009= 27,901
3) A ) 420-05 |752,0009= 752
L 7] @ st w Al A A 7,296
1) 347 210-13 |608,00091 x 129 = 7,296
7)1 39 73 356,016 460,424 104,408
71259 350,316 350,711 A395
SRR 350,316 350,711 A395
1. 7| 2 FE 31 27,680 27,600 80
7h 713871229 73 ] 27,680
1) 7)1 BgAMNFA 3= 250-02 |400,0009 X 12¢= 4,800
2) 71 ¢ QP FZ=7n) 230-01 |21,000,00091= 21,000
3) A7 FF21] 230—01 [40,0009 x 479 = 1,880
2. 71 B8 A 164,872 162,167 2,705
7h A A B 1,500
1) 7| EGAKS 210-09 |125,0009x12¢= 1,500
. Ak 70,523
1) AAFG- A K4 210-09 |1,796,7509 X 129 = 21,561
2) FAFGA B 210-09 |200,0009 % 12¢= 2,400
3) A7|tA BT Yy E 210-13 |240,00091 X 129 = 2,880
4) Z22HFA) A A w] QA A 7 210-13 |180,0009 X 12¢= 2,160
5) AHFAH] H 2 210-15 |50,0009 x5% x 43| = 1,000
6) Fadnn] 35,122
7hH 7184 110-04 |1,085,5009 X2 x12¢¥= 26,052
) F20m) 110-04 |130,0009 % 2% x 12¢ = 3,120
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A AR EsFu A 93 (9] - )
= [e) 1=}
Ropnz f};; f‘—};; ﬂgj AR %A A2 20199 (A) | 20189(B) | FH(A-B)
th Azt 110-04 |978,900¢1 x 2= 1,958
2h) FHldH 320-12 68,7209 x 1% x 129 = 825
n}) AR 320-12 49,3309 x 27 x124= 1,184
Hh) =914 7] QoFR 3 320-12 |1,8309x 2% x 129 = 44
Ap 1eRd 320-12 |22,91090x27 x124= 550
o}) AA 1.8 320-12 |15,28091 x 21 x 129 = 367
) B A 320-12 |1,022,0009 x 1= 1,022
7) A LE 210-15 |50,0009 x 3% x128]= 1,800
8) HA < Eg 210-15 |500,0009 x23]= 1,000
9) ol 1= 210-15 |120,0009 x 53] = 600
10) H71EA-EH = 210-02 |50,0009 x43]= 200
11) <7124 210-09 150,0009 x12¥¢= 1,800
o}, A 7y 1,800
1) FelAgn) g 210-13 |150,0009 x 129 = 1,800
ek T3 a9 AlA 51,585
1) A7|e+F 210-02 |2,750,0009 X 129 = 33,000
2) A3 210-02 |650,0009 x 129 = 7,800
3 FHL= 210-02 45,0009 x 129 = 540
4) N3 Ee T 210-02 |180,000¢ x129= 2,160
5 ARRZRIE 210-02 |25,00091 X199 = 475
6) GAEA LR 210-02 |30,0009 x 129 = 360
7) ZHFelA v 23] v 210-02 |50,0004 x 1= 50
8) A7 HASFFE 210-02 |660,000¢l x 18] = 660
9) AR H] 210-02 |150,000¢1 x12¥= 1,800
10) Q1E] Y E AN 210-02 |395,00091 x 129 = 4,740
S R ARD R 12,728
1) th& %8 (20,000kmv] 7F) 210-10 |6,640,0009 x 1tf= 6.640
2) 38 53H(10,000km™] %H) 210-10 |6,088,000¢ x 1th= 6,088
vh, ARk 7o 13,070
1) e A 210-01 |100,000€l x 54 = 500
2) P B = 210-01 |20,00091 X 35% x 129 = 8,400
3) Qx| 210-01 |15,00091 X 70%-x 13 = 1,050
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4) FEorE 210-01 |50,0009 x 5% x 28] = 500
5) S8 210-01 |20,00091 X 2% x 83]= 320
6) 3] EH) 210-03 |200,0009 x 478 x 18] = 800
7) & sFakA 2 210-15 |250,0009 x 2% x 23] = 1,000
8) LogF 210-15 |50,0009 x 2 x 58] = 500
AR AR A B 2,000
1) A7t 210-09 |250,0009 x123]= 3,000
ob. AFFEE7HA 8,300
1) AFg-o) 2} 430-01 |250,0009 x 18t]= 4,500
2) A E A A 7] 430-01 |800,0004¢1 x 1t}= 800
3) WA 430-01 |1,000,0009 x 3t)= 3,000
. A5 A} vz
1) 2] 210-04 |8,0009 X527 x13]= 416
9) 7HA1) 210-04 3,000€1 X521 x 13| = 156
3) YALEF 210-01 |50,0009 x 7% x 18] = 350
2h FELEET] 1,444
1) 2] 210-04 18,0009 X521 x 23] = 832
2) 7+-411] 210-04 |3,0009 %527 x 28] = 312
3) YA E 210-01 |50,0009 X 3% x 23] = 300
3. #4712 373 110,504 110,504 0
7} WA A 70,168
D) k-G 11,600
7 B 210-01 |1,200,00091= 1,200
W 71 210-01 |416,0009 X 257 = 10,400
2) Euj] 2] 210-05 (8,000 x 23 x 12 = 2,208
3) ofu] 41,000
7h ) 220-01 |20,0009 X257 x 173]= 8,500
W) =4 220-01 40,0009 X257 x 153] = 15,000
th %9 220-01 |70,00091 % 257 x 103]= 17,500
4) F A= 21) 230-01 |350,0009 x124¥= 4,200
5) A AWFAFEZ=71) 250-02 |100,0009 x 12¥= 1,200
6) SA4FAH 2900
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7h FAbE RS- 250—-03 80,0009 x 29 x 12¢ = 1,920
) dAatgds 250-03 |150,0009 %39 x 129 = 5,400
o) SAul X P g] 250—03 100,000 x 19 x12¢= 1,200
) IJAGIFEEA 250-03 60,0009 X298 x12¢¥= 1,440
= A SRR 40,336
1) Yrbe-en] 5,776
b B 210—01 1,200,000 = 1,200
) 7fel 210-01 416,0009 %119 = 4,576
2) Eu]Aln) 210-05 |8,0009¥ x117 x308]= 2,640
3) o] 24,840
7hH #d 220-01 (20,0009 x 129 x 353]= 8,400
h T 220—01 40,0009 X129 x 223] = 10,560
hH =9 220-01 |70,000¢ x 127 x 78] = 5,880
4) B FE=21H] 230—01 [350,0009x12¥9= 4,200
5) AMFA I Z=7n] 250—02 100,0009 x12¥= 1,200
6) 5457 1,680
7h FADS () g4 250-03 60,0009 X198 x12¢¥= 720
W SuR A (53 ER3) G | 250-03 80,0009 %1% x129= 960
4, EAB7EQFF 6,696 7,516 2820
7} k- H) 2,376
D 713 210-01 |800,00091= 800
2) MAF 210-01 394,000 x4 = 1,576
=Tl 210-05 8,000 X 49 X 603] = 1,920
o}, B Lo o =) 230—01 100,0009x12¢= 1,200
gt AT Y F-F%1n] 250-02 |100,000¢ x 129 = 1,200
5. EX#A7|ER-Y 78 H] 40,564 42,924 22,360
7} P ETE 210-01 15,0009 x4&x12¢= 720
U EAHELE 210-01 80,000 x20&= 1,600
o} EAIMARCY AH] 210-13 9609 x1,975¢8= 1,896
gt T3 FLAAA 18,382
1) A7+ 210-02 |1,200,0009 x12¢¥= 14,400
2) Aste = 210-02 80,0009 x 129 = 960
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3) A B AR Q 210-02 159 %5001 x12¢¥= 90

4) SHQ 210-02 |50,0009 x 23] = 100

5) AT 210-02 80,0009 x12¥= 960

6) A A g B 210-02 |21,4509x12€9= 258

7) A7 A AT R 210-02 |200,0009 x13]= 200

) 77171 AT E 210-02 [150,0009 X 13]= 150

9) FolAgn| 4o 210-13 |105,3009 x 129 = 1,264

v}, ol g1 210-08 9059 x 198A]3= 180

151 B e ) 210-09 19,5009 x4t) x 129 = 936

Ab. A7 7 A B 210-09 [150,0009 x12¥= 1,800

o}, HAFG-A| B 210-09 |200,0009 x 129 = 2,400

I AR~ 210-09 |200,0009 x 129 = 2,400

S Rk 6,070

1) HAF7) 110-04 |500,0009 x 27 x 28] = 2,000

9) Uk H 2| 240-02 |400,0009 X 2% = 800

3) HA= 320-12 |1,635,0009 x 2% = 3,270

7}, o1n] 2,640

1) Z 220-01 10,0009 x 49 x103] = 400

2) & 220-01 |20,0009 x 4™ X 143] = 1,120

3) & 220-01 |70,0009 x 47 x 43]= 1,120

Bl w471 210-01 |500,0009 X 2% = 1,000

o S A7 3] 210-02 |180,000¢ X 3%= 540
SRZ 7 BAA 5,700 109,713 104,013
WEA AP L HE 5,700 109,713 A104,013
1. A LAAA 5,700 109,713 A104,013

7} BARS-A] B 210-09 [300,0009 X 194t = 5,700
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